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ECONOMICS
PAPER—II
(General)

Full Marks : 90

Time : 3 Hours
The figures in the right-hand margin indicate full marks.

Candidates are required to give their answers in their

own words _as far as practicable.

First Half

Economic Theory-Il (Macroeconomics}

Group—A
1. Answer any five Questions : Sx2

(a) What is the difference between GNP and NNP ?
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(b) What is the value of Marginal Propensity to consume
and why is it so?

(c) Show how the value of marginal propénsity to
consume determines the multiplier ?

(d) What do you understand by GDP deflator ?
() What is value added method ?

(f)y Define inflation.

{g) Define terms of trade.

(h) What is progressive tax?

(i) Define money ?

(j) What is Balance of Trade ?

Group—B

Answer any three guestions. 3x5

2. Briefly explain the output method of national income

accounting. 5
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3. Discuss about the development activities of Central Bank
in a developing ec'onomy. 5
4. When MPC=0.75, calculate investment multiplier. Prove
that MPC+MPS=1 2+3

S. What are the functions of money ? 2+3

6. Briefly discuss comparative advantage as a basis of trade.
' 5

7, Why the balance of payments of a countrv must always

balance ? 5

Group—C
Answer any fwo questions. 2x10
8. How is equilibrium level of income determined by the

interaction of Savings and Investment schedule ?

Discuss. 10

9. What is the essence of quantitv theors i moner ? Discuss

Fisher’s version of gquantity thecrv i monev 3+7
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10. Explain methods of credit control of central bank. 10

11. Distinguish between direct tax and indirect tax. Write a

-

short note on the burden of public debt. 5+5

Second Half

{Indian Economics-II)

Group—A
1. Answer any five Questions : Sx2

{a] When and why leading commercial banks were
nationalised in India?

(h) Which t}'pé of taxes are seen more in Indian Tax
Sygtem ? Is it beneficial for the whole community ?

¢} When was the Planning Commission abolished in
India and why ?

(d) When were the local governments recognised as the
third tier in the Indian Federal system ?

le} What are the policies adopted by the government of
India to correct BOP deficit ?
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(f) Define MI for meaéuring money supply.
(8) What is GST?
(h) What do you understand by demonetisation ?

(i) Give any two arguments in favour of import
- " liberalisation.

(i) What do you understand by decentralised planning ?

Group—B

Answer any three questions. 3Ix5

2. Briefly discuss the impact of reformn on the banking

-sector.

3. Discuss recommendations of Kelkar Commitee on tax

reforms.

4. Briefly discuss India’s Balance of Payments situation

: gince 1991,

5. Explain why deficit financing is necessary in India?
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10.

11.

What are the recent steps taken to combat black money
in India?

What are the policies adopted to combat inflation problem
in the planning era of India?

GrouH

Answer any two questions. 2x10

. Discuss the role of Reserve Bank of India in the

development of the country.

What is import substitution? What were the main
objectives of import substitution in India?

Give your arguments for and against deficit financing in
India.

Write objectives of five year plans in India. How far the
objectives have been fulfilled ? 5+5
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